Opérations Mixtes (A)

Complétez les exercices suivants

4 1 5 4 2 10 10 7 3 5
+ 9 411 +3 +9 4+ 5 + 8 — 5 3 4+ 2 +12
0 12 11 16 3 6 17 9 20 12
~ 9 411 — 3 — 8 +12 + 7 =9 1 — 12 9
2 16 18 16 10 12 o 15 18 7
_ 9 — 5 —10 —10 +12 + 7 — 8 6 — 6 8
11 3 4 15 g 11 5 110 9
~ 6 + 9 — 3 —10 +12 + 7 — 1 6 — 7 +11
16 1 4 6 12 7 8§ 17 12 10
-5 £ 2 +6 — 1 4+ 8 + 3 +12 —10 — 1 2
16 5 11 10 11 1 13 2 13 7
~ 6 + 7 —10 + 3 — 4 + 1 — 2 9 — 9 5
o 19 20 15 16 17 8 8 g8 19
+ 8 — 9 —11 — 4 — 8 —12 + 9 5 — 5 7
8 3 12 14 18 6 8 4 9 11
~ 2 + 1 + 8 —11 —10 + 6 +12 9 + 8 411
15 13 1 1 4 3 5 16 14 7
5 —11 +10 + 7 — 2 + 6 + 3 7 — 6 +10
5 20 22 4 21 15 2 111 7
~ 1 —12 —12 + 1 —11 =11 + 9 2 — 7 +12
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Opérations Mixtes Solutions (A)

Complétez les exercices suivants

4 1 5 4 2 10 10 7 3 5
£+ 9 411 +3 +9 +5 +8 — 5 4+ 3 + 2 +12
3 12 g8 13 7 18 5 10 5 17
0 12 11 16 3 6 17 9 20 12
~ 9 411 -3 — 8 412 +7 —9 4+ 1 —12 + 9
1 23 8 g8 15 13 g8 10 g8 21
2 16 18 16 10 12 o 15 18 7
~ 9 -5 —-10 -10 +12 + 7 — 8 — 6 — 6 + 8
311 8 6 22 19 1 o 12 15
11 3 4 15 g 11 5 110 9
~ 6 +9 —3 —10 +12 + 7 — 1 + 6 — 7 +11
5 12 1 5 20 18 4 7 3 20
16 1 4 6 12 7 8§ 17 12 10
-5 +2 +6 —1 + 8 +3 +12 —10 — 1 — 2
11 310 5 20 10 20 7 11 8
16 5 11 10 11 1 13 2 13 7
-6 + 7 —-10 +3 — 4 +1 —2 4+ 9 —9 — 5
0 12 1 13 7 2 11 11 4 2
o 19 20 15 16 17 8 8 g8 19
+ 8 —9 —11 — 4 — 8 —12 + 9 + 5 — 5 — 7
18 10 9o 11 8 5 17 13 312
8 3 12 14 18 6 8 4 9 11
— 2 + 1 + 8 —11 —10 + 6 +12 4+ 9 + 8 11
6 4 20 3 § 12 20 13 17 22
15 13 1 1 4 3 5 16 14 7
~ 5 —11 410 +7 —2 +6 +3 — 7 — 6 +10
10 2 11 8 2 9 8 9 g8 17
5 20 22 4 21 15 2 111 7
~ 1 —-12 —12 + 1 —11 —11 + 9 + 2 — 7 +12
4 g8 10 5 10 4 11 3 4 19
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Opérations Mixtes (B)

Complétez les exercices suivants

2 16 4 6 4 11 16 14 19 8
L 7 9 + 9 410 + 4 + 1 — 7 § — 7 2
8 11 3 14 10 3 3 8 9 3
L 7 2 +1 —7 4+ 9 + 4 + 5 5 + 8 3
6 17 2 23 7 21 12 2 21 15
+ 2 —12 +7 —12 + 6 —12 — 3 9 — 9 4
4 12 3 11 3 9 9 5 7 2
2 7 +10 — 6 — 2 — 8 + 5 1 + 5 10
15 7 12 6 6 10 5 3 8 13
_ 4 2 +10 +11 + 3 — 4 + 6 1 + 6 2
14 6 6 9 8 14 19 3 14 11
_ 4 8 + 3 — 7 +12 — 8 —10 2 - 8 9
8 1 6 12 3 13 15 2 16 11
+ 8 2 + 7 +3 -2 -5 -9 2 — 9 4
1 15 5 13 12 8 11 14 18 3
+ 3 6 — 4 — 2 —10 + 8 410 —10 — 6 10
11 11 7 1 2 2 19 4 9O 17
+ 10 2 +10 + 3 + 3 + 2 — 8 2 - 2 7
17 6 11 8 8 6 1 1 10 8
~ 9 5 -6 —3 +6 + 8 + 3 4 — 4 1
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Opérations Mixtes Solutions (B)

Complétez les exercices suivants

2 4 6 4 11 16 14 8
1+ 7 + 9 4+10 + 4 + 1 — 7 — 8 2
9 13 16 8 12 9 6 6

8 3 14 10 3 3 8 3
+ 7 + 1 — 7 +9 +4 +5 + 5 3
15 4 7 19 7 8 13 6
6 2 23 7 21 12 2 15
L2 + 7 —12 + 6 —12 — 3 + 9 4
8 9 11 13 9 9 11 11

4 3 11 3 9 9 5 2
) +10 - 6 — 2 — 8 4+ 5 — 1 10
2 13 5 1 1 14 4 12
15 7 12 6 6 10 5 3 13
_ 4 2 +10 +11 + 3 — 4 + 6 — 1 2
11 9 22 17 9 6 11 2 11
14 6 6 9 8 14 19 3 11
~ 4 8 +3 — 7 +12 — 8 —10 — 2 9
10 14 9 2 20 6 9 1 2
8 1 6 12 3 13 15 2 11

+ 8 2 + 7 +3 —2 —5 — 9 12 4
16 3 13 15 1 8 6 4 15
1 15 5 13 12 8 11 14 3

+ 3 6 — 4 — 2 —10 + 8 +10 —10 10
4 9 1 11 2 16 21 4 13
11 11 7 1 2 2 19 4 17
+ 10 2 +10 + 3 + 3 +2 — 8 +12 7
21 13 17 4 5 4 11 16 10
17 6 11 8 8 6 1 1 8
-9 5 -6 —3 +6 +8 + 3 + 4 1
8 11 5 5 14 14 4 5 9
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Opérations Mixtes (C)

Complétez les exercices suivants

2 10 11 10 6 16 20 18 14 5

+ 9 4 + 3 + 6 + 6 -7 =11 10 —12 4+ 5
1 9 10 9 6 6 12 16 5 9

+ 12 8 + 2 —3 —5 — 2 4+ 1 12 + 6 + 2
21 9 1 13 11 21 16 11 9 7

— 10 9 +1 —1 =-10 = 9 — 6 10 +10 — 6
| 1 5 16 4 11 10 9 11 12

+ 4 4 -3 -8 -2 + 1 +9 4 — 4 + 2
18 10 2 7 9 8 12 2 17 1

— 11 7 +£ 8 =2 +£11 +11 + 4 1 — 9 + 5
9 10 3 11 6 13 4 16 23 6

+ 38 4 +12 + 4 - 2 —-— 2 + 3 9 —11 + 1
9 5 9 9 4 18 20 14 12 21

- 3 5§ =5 +4 +9 -8 =9 5 + 4 —11
16 15 20 5 11 13 14 11 8 3

— 10 12 —-12 +10 —-10 — 6 —11 I — 1 + 6
7 9 21 16 12 5 9 12 8 5

+ 10 9 -9 -9 +4 -3 + 6 7 + 8 + 8
8 14 16 5 6 7 5 3 11 17

+ 38 12 -4 -2 + 6 + 7 + 1 2 -9 =9

MathsLibres.com




Opérations Mixtes Solutions (C)

Complétez les exercices suivants

2 10 11 10 6 16 20 18 14 5
+ 9 4 +3 +6 +6 — 7 —11 —10 12 + 5
11 14 14 16 12 9 9 8 2 10
1 9 10 9 6 6 12 16 5 9
+ 12 8§ + 2 — 3 —5 — 2 4+ 1 —12 6 + 2
13 1 12 6 1 4 13 4 11 11
21 9 1 13 11 21 16 11 9 7
— 10 9 + 1 — 1 —-10 — 9 — 6 —10 10 — 6
11 18 2 12 1 12 10 1 19 1
1 1 5 16 4 11 10 9 11 12
+ 4 4 — 3 — 8 — 2 +1 +9 — 4 4 + 2
5 5 2 8 2 12 19 5 7 14
18 10 2 7 9 8 12 2 17 1
— 11 7 + 8 — 2 +11 +11 + 4 — 1 9 + 5
7 17 10 5 20 19 16 1 8 6
9 10 3 11 6 13 4 16 23 6
+ 8 4 +12 + 4 — 2 — 2 4+ 3 — 9 11 + 1
17 14 15 15 4 11 7 7 12 7
9 5 9 9 4 18 20 14 12 21
- 3 5 -5 +4 +9 — 8 —9 — 5 4 — 11
6 10 4 13 13 10 11 9 16 10
16 15 20 5 11 13 14 11 8 3
~ 10 2 —12 +10 —10 — 6 —11 — 1 1 + 6
6 3 8 15 1 7 3 10 7 9
7 o 21 16 12 5 9 12 8 5
+ 10 9 — 9 — 9 + 4 — 3 4+ 6 + 7 8 + 8
17 18 12 7 16 2 15 19 16 13
8 14 16 5 6 7 5 3 11 17
+ 8 2 — 4 —2 +6 +7 +1 + 2 9 — 9
16 2 12 3 12 14 6 5 2 8
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Opérations Mixtes (D)

Complétez les exercices suivants

19 16 6 11 7 4 6 12 4 9
12 -10 -2 -5 —6 +2 —3 —6 +12 + 7
10 20 4 11 13 311 310 6
+ 1 — 8 + 5 412 —11 +2 + 6 + 1 + 1 + 4
4 12 16 7 2 16 12 2 1310
+r 2 -1 -6 — 1 +10 — 5 +3 + 1 — 3 + 7
15 3 7 10 13 8 23 6 9 9
-5 — 2 — 4 411 — 9 + 4 —-12 — 2 — 6 — 8
g 15 6 21 18 4 14 11 g8 14
-3 —-10 + 7 —-10 —11 + 6 —11 — 8 — 1 — 9
16 12 5 12 16 11 5 5 6 19
-7 410 + 9 +3 -7 -3 —3 —2 — 5 — 8
6 20 4 10 11 12 15 10 1 5
+ 8 — 9 412 +10 +5 — 3 — 3 + 1 + 8 + 2
4 19 7 20 3 5 15 8 4 3
+ 2 —12 +2 —12 + 7 + 8 —11 + 8 + 5 +10
6 6 2 18 20 17 10 11 14 13
+9 +6 +1 — 8 — 8 —5 +11 + 6 — 5 —11
15 12 14 5 3 2 2 5 13 13
12 — 8 —12 +6 +7 +3 +6 + 6 — 4 — 7
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Opérations Mixtes Solutions (D)

Complétez les exercices suivants

19 16 6 11 7 4 6 12 4 9
12 10 — 2 -5 —6 +2 —3 —6 +12 7
6 4 6 1 6 3 6 16 16

10 20 4 11 13 3 11 3 10 6
o1 8 + 5 +12 —11 + 2 4+ 6 + 1 + 1 4
11 12 9 23 2 5 17 4 11 10

4 12 16 7 2 16 12 2 13 10
L2 1 -6 — 1 +10 — 5 +3 + 1 — 3 7
6 11 10 6 12 11 15 3 10 17

15 3 7 10 13 8 23 6 9 9

— 5 2 — 4 411 — 9 + 4 —12 — 2 — 6 8
10 1 3 21 4 12 11 4 3 1

8 15 6 21 18 4 14 11 8 14

~ 3 0 +7 —10 —11 + 6 —11 — 8 — 1 9
5 5 13 11 7 10 3 3 7 5

16 12 5 12 16 11 5 5 6 19

— 7 0 +9 +3 —7 —3 —3 — 2 —5 8
9 22 14 15 9 8 2 3 1 11

6 20 4 10 11 12 15 10 1 5

+ 8 9 +12 +10 + 5 —3 —3 + 1 + 8 2
14 11 16 20 16 9 12 11 9 7

4 19 7 20 3 5 15 8 4 3

+ 2 12 +2 —12 + 7 + 8 —11 + 8 4+ 5 10
6 7 9 8 10 13 4 16 9 13

6 6 2 18 20 17 10 11 14 13

+ 9 6 + 1 — 8 — 8 — 5 +11 + 6 — 5 11
15 12 3 10 12 12 21 17 9 2
15 12 14 5 3 2 2 5 13 13
12 8 —12 + 6 + 7 +3 +6 + 6 — 4 7
3 4 2 11 10 5 8 11 9 6
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Opérations Mixtes (E)

Complétez les exercices suivants

116 3 9 8 1 16 6 4 8
+ 6 6 + 4 + 3 4+ 3 412 —10 + 3 2 4+ 9
8 8 o 17 11 8 5 20 9 5
— 5 7 -5 —11 +6 — 1 — 2 —12 +11 + 3
18 17 12 7 9 11 10 12 7 20
— 7 9 — 9 — 6 412 — 8 — 3 —11 g8 — 12
6 1 19 20 17 6 9 g8 15 10
+ 7 5 -9 — 8 —12 + 2 + 4 — 5 4 — 9
12 3 3 7 11 10 11 8 4 9
~ 10 1 +10 410 + 5 + 6 +11 + 4 +11 4+ 3
7 10 6 7 315 3 9 10 12
+ 12 4 — 4 — 5 — 2 — 4 4+ 3 — 2 7 + 3
2 11 15 10 1 12 1 13 12 12
+ 10 1 —11 — 1 + 1 —10 + 4 =10 9 — 8
19 7 20 7 24 13 11 10 9 2
— 7 8§ — 9 +12 —12 — 8 — 8 — 2 7 + 2
6 5 7 4 13 12 19 5 10 2
+ 7 8 + 5 + 8 — 7 +5 — 7 + 6 3 411
14 8 7 9 11 10 20 1 19 6
— 4 6 +2 4+ 9 —2 — 9 — 8 +11 —11 + 5

MathsLibres.com




Opérations Mixtes Solutions (E)

Complétez les exercices suivants

1 16 3 9 8 1 16 6 4 8
L 6 6 + 4 + 3 + 3 +12 —10 + 3 — 2 9
7 10 7 12 11 13 6 9 2 17
8 8 9 17 11 8 5 20 9 5
— 5 7 -5 —11 +6 — 1 — 2 —12 +11 3
3 15 4 6 17 7 3 § 20 8
18 17 12 7 9 11 10 12 7 20
— 7 9 - 9 — 6 +12 — 8 — 3 —11 + 8 12
11 8 3 1 21 3 7 1 15 8
6 1 19 20 17 6 9 8 15 10
+ 7 5 -9 — 8 —12 + 2 + 4 — 5 — 4 9
13 6 10 12 5 8 13 3 11 1
12 3 3 7 11 10 11 8 4 9
— 10 1 +10 +10 + 5 4+ 6 +11 + 4 +11 3
2 2 13 17 16 16 22 12 15 12
7 10 6 7 3 15 3 9 10 12
+ 12 4 — 4 -5 — 2 — 4 +3 — 2 — 7 3
19 14 2 2 1 11 6 7 3 15
2 11 15 10 1 12 1 13 2 12
+ 10 1 —11 — 1 + 1 —-10 - 4 —10 + 9 8
12 10 4 9 2 2 5 3 21 4
19 7 20 7 24 13 11 10 9 2
— 7 8§ — 9 +12 —12 — 8 — 8 — 2 + 1 2
12 15 11 19 12 5 3 8 16 4
6 5 7 4 13 12 19 5 10 2
+ 7 8 + 5 +8 — 7 +5 — 171 4+ 6 — 3 11
13 13 12 12 6 17 12 11 7 13
14 8 7 9 11 10 20 1 19 6
— 4 6 + 2 4+ 9 — 2 — 9 — 8 +11 -—11 5
10 2 9 18 9 1 12 12 8 11

MathsLibres.com




Opérations Mixtes (F)

Complétez les exercices suivants

2 18 312 5 11 2 12 15 6
— 1 =10 1 + 4 +10 +6 +10 +6 — 9 — 3
5 13 6 13 5 5 11 15 3 7
+ 7 — 6 2 —11 — 4 + 4 —5 —10 + 2 — 4
5 9 4 11 12 20 1719 7 19
+10 + 8 2 — 4 +8 —9 —10 —7 +6 —9
15 6 2 15 16 1 9 8 6 15
-9 + 2 4 —12 — 5 +9 +12 +9 + 2 —10
12 5 11 14 11 5 12 16 2 1
-9 +.5 8§ — 7 4+ 9 4+ 2 — 9 — 8 + 9 + 7
4 14 18 13 23 10 14 4 6 7
+ 7 — 4 § — 6 —11 + 2 —-10 + 7 + 9 + 8
16 12 5 12 12 8 1 3 8 5
- 6 + 8 4 — 5 — 4 — 1 +11 +11 +12 + 3
o 22 14 12 5 11 5 14 5 2
— 6 —10 7 -6 +8 — 1 +1 — 6 + 5 + 9
3 6 7 20 3 16 12 4 9 12
+ 8 — 3 4 —12 + 7 —12 +9 —2 + 7 -2
8 9 4 1411 1 7 15 g8 11
— 4 -3 2 -7 +8 +8 —4 — 7 — 1 + 1

MathsLibres.com




Opérations Mixtes Solutions (F)

Complétez les exercices suivants

2 18 3 12 5 11 2 12 15 6
~ 1 —-10 — 1 + 4 +10 + 6 +10 6 — 9 3
1 8 2 16 15 17 12 18 6 3

5 13 6 13 5 5 11 15 3 7
£+ 7 — 6 + 2 —11 — 4 + 4 — 5 10 + 2 4
12 7 8 2 1 9 6 5 5 3
5 9 4 11 12 21 17 19 7 19
+10 + 8 — 2 — 4 4+ 8 — 9 —10 7 + 6 9
15 17 2 7 20 12 7 12 13 10
15 6 2 15 16 1 9 8 6 15
—~ 9 4+ 2 + 4 —12 —5 4+ 9 +12 9 + 2 10
6 8 6 3 11 10 21 17 8 5
12 5 11 14 11 5 12 16 2 1
~ 9 +5 +8 — 7 +9 +2 —9 8 + 9 7
3 10 19 7 20 7 3 8 11 8

4 14 18 13 23 10 14 4 6 7
L+ 7 — 4 — 8 — 6 —11 + 2 —10 7 + 9 8
11 10 10 7 12 12 4 11 15 15
16 12 5 12 12 8 1 3 8 5
— 6 + 8 — 4 — 5 — 4 — 1 +11 11 + 12 3
10 20 1 7 8 7 12 14 20 8
9 22 14 12 5 11 5 14 5 2
-6 —-10 -7 — 6 + 8 — 1 + 1 6 + 5 9
3 12 7 6 13 10 6 8 10 11

3 6 7 20 3 16 12 4 9 12
+ 8 — 3 — 4 —12 4+ 7 —12 + 9 2 + 7 2
11 3 3 8 10 4 21 2 16 10
8 9 4 14 11 1 7 15 8 11

— 4 -3 + 2 — 7 + 8 4+ 8 — 4 7 — 1 1
4 6 6 7 19 9 3 8 7 12
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Opérations Mixtes (G)

Complétez les exercices suivants

14 3 5 15 20 6 4 9 18 6
— 3 1 3 -6 —12 — 3 +11 4 9 + 3
10 4 9 3 10 14 8 10 6 7
-9 10 5 +2 — 7 —5 +.1 7 1 + 3
5 13 11 15 8 7 7 8 2 3
+ 6 7 7 — 6 — 6 — 1 — 4 1 9 411
12 2 5 6 18 6 8 3 18 22
— 4 7 § +10 —12 +11 +10 5 11— 11
9 16 17 11 3 14 17 8 1 3
— 3 9 5 +12 -1 — 8 — 1 6 7 4+ 2
1 14 1 10 15 10 1 19 11 15
+ 11 12 1 -3 — 7 + 3 + 7 9 3 — 9
22 8 18 5 10 5 11 7 7 2
— 11 6 —10 +11 + 1 +12 +12 + 10 6 + 8
14 12 1 5 14 10 5 2 12 8
— 11 11 0 +6 — 7 — 3 + 3 1 5 — 2
1 18 14 7 2 1 4 5 13 14
+ 8 7 7 — 3 +12 +11 - 1 12 6 — 5
7 5 16 2 4 3 16 8 6 1
~ 6 4 5 + 2 410 + 7 — 4 9 2 + 3
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Opérations Mixtes Solutions (G)

Complétez les exercices suivants

14 3 5 15 20 6 4 9 18 6
~ 3 1 + 3 — 6 —12 — 3 +11 — 4 9 + 3
11 2 8 9 8 3 15 5 9 9
10 4 9 3 10 14 8 10 6 7
~ 9 0 +5 +2 —7 —5 + 7 + 1 1 + 3
1 14 14 5 3 9 15 17 7 10
5 13 11 15 8 7 7 8 2 3
L 6 7 +7 -6 -6 — 1 — 4 — 1 9 + 11
11 6 18 9 2 6 3 7 11 14
12 2 5 6 18 6 8 3 18 22
— 4 7 + 8 +10 —12 4+11 +10 + 5 11— 11
8 9 13 16 6 17 18 8 7 11
9 16 17 11 3 14 17 8 1 3
~ 3 9 -5 +12 — 1 — 8 — 71 — 6 7 + 2
6 7 2 23 2 6 10 2 8 5
1 14 1 10 15 10 1 19 11 15
+ 11 2 +1 -3 —7 +3 +7 -9 3 — 9
12 2 2 7 8 13 8 10 8 6
22 8 18 5 10 5 11 7 7 2
~ 11 6 —10 +11 + 1 +12 +12 +10 6 + 8
11 2 8 16 11 17 23 17 1 10
14 12 1 5 14 10 5 12 12 8
— 11 11 +10 +6 — 7 — 3 + 3 — 1 5 — 2
3 23 11 11 7 7 8 11 7 6
1 18 14 7 2 1 4 5 13 14
+ 8 7 — 7 — 3 +12 +11 — 1 +12 6 — 5
9 11 7 4 14 12 3 17 7 9
7 5 16 2 4 3 16 8 6 1
— 6 4 — 5 + 2 +10 + 7 — 4 + 9 2 + 3
1 1 11 4 14 10 12 17 4 4
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Opérations Mixtes (H)

Complétez les exercices suivants

4 14 14 17 11 11 8 12 24 2
+ 5 —12 — 2 —10 +11 + 1 — 3 5 —12 + 7
15 8 10 17 9 9 18 10 4 2
~ 9 -7 —9 —-10 -8 — 7 —9 4 + 9 + 1
7 5 13 6 6 7 9 1 14 2
~ 2 +6 —9 +9 —3 4+ 1 — 6 8 — 4 + 11
11 6 6 8 9 12 13 12 13 5
+ 8 +1 4+ 1 +2 —7 + 7 — 8 1 - 2 + 1
14 11 2 12 9 5 11 10 18 13
~ 10 — 3 +12 —11 + 1 +10 + 2 8 — 7 — 9
10 9 9 5 10 7 O 12 13 1
-~ 9 — 6 -5 +6 — 6 — 4 +11 4 —11 + 8
1 12 5 5 11 10 12 4 17 8
+ 2 +1 410 — 4 +9 — 5 — 9 1 — 5 + 7
9 8 7 7 9 2 4 1319 9
+ 8 +6 — 6 + 8 — 8 4+ 8 + 1 8 — 8 +10
9 14 4 16 12 7 4 2 12 12
-3 -3 +3 — 6 — 6 +11 + 8 3 + 9 — 8
16 24 21 7 6 5 7 16 12 5
— 8 —12 —10 + 4 + 7 +11 +11 11 + 3 — 4
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Opérations Mixtes Solutions (H)

Complétez les exercices suivants

4 14 14 17 11 11 8 12 24 2
L5 2 — 2 —10 +11 + 1 — 3 + 5 —12 7
9 2 12 7 22 12 5 17 12 9

15 8 10 17 9 9 18 10 4 2

~ 9 7 -9 —-10 — 8 — 7 — 9 + 4 + 9 1
6 1 1 7 1 2 9 14 13 3

7 5 13 6 6 7 9 1 14 2
2 6 — 9 + 9 — 3 + 1 — 6 + 8 — 4 11
5 11 4 15 3 8 3 9 10 13

11 6 6 8 9 12 13 12 13 5

+ 8 1 +1 +2 -7 +7 —8 +1 — 2 1
19 7 7 10 2 19 5 13 11 6
14 11 12 12 9 5 11 10 18 13
10 3 +12 —11 + 1 +10 + 2 + 8 — 7 9
4 8 24 1 10 15 13 18 11 4

10 9 9 5 10 7 9 12 13 1
-9 6 — 5 + 6 — 6 — 4 +11 — 4 —11 8
1 3 4 11 4 3 20 8 2 9

1 12 5 5 11 10 12 4 17 8

+ 2 1 +10 — 4 + 9 —5 —9 — 1 — 5 7
3 13 15 1 20 5 3 3 12 15

9 8 7 7 9 2 4 13 19 9

+ 8 6 — 6 + 8 — 8 +8 + 1 — 8 — 8 10
17 14 1 15 1 10 5 5 11 19

9 14 4 16 12 7 4 2 12 12

~ 3 3 +3 — 6 — 6 +11 + 8 + 3 + 9 8
6 11 7 10 6 18 12 5 21 4

16 24 21 7 6 5 7 16 12 5

— 8 12 —-10 + 4 + 7 411 +11 —11 + 3 4
8 12 11 11 13 16 18 5 15 1
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Opérations Mixtes (I)

Complétez les exercices suivants

10 6 3 3 12 4 7 18 17 7
+ 7 12 9 + 3 — 1 — 1 —2 —9 100 — 5
1 3 10 9 2 17 11 17 11 15
L 4 6 4 + 8 + 5 —11 +10 — 8 12 — 6
21 2 12 1 10 8 5 7 2 9
— 11 2 3 +3 —9 + 1 + 8 — 5 7 + 9
4 6 15 7 14 7 10 8 11 3
1 10 2 +9 —6 — 1 + 7 + 4 1 + 3
12 4 17 13 3 8 2 7 3 5
— 6 3 2 -8 +5 —3 +10 — 3 5 — 3
7 12 2 10 19 9 10 12 13 6
+ 7 2 2 -5 —12 + 9 + 2 + 7 7 + 6
5 18 4 6 11 15 3 3 13 12
+ 11 12 8§ + 9 + 5 — 6 4+ 2 +12 7 + 7
11 13 7 14 10 15 20 7 1 17
~ 9 1 — 4 — 9 —10 — 9 + 17 1 — 11
6 6 11 4 12 12 10 11 10 23
+ 10 3 1 + 6 + 4 +12 — 2 — 3 2 — 11
21 4 9 12 14 12 5 2 3 8
— 10 12 9 +11 — 6 — 1 + 5 + 5 11— 7
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Opérations Mixtes Solutions (I)

Complétez les exercices suivants

10 6 3 3 12 4 7 18 17 7

+ 7 2 +9 4+ 3 —1 -1 = 2 9 10 — 5
17 18 12 6 11 3 5 9 7 2

| 3 10 9 2 17 11 17 11 15

+ 4 6 +4 +£8 + 5 =11 +10 8 12 — 6
5 9 14 17 7 6 21 9 23 9

21 2 12 1 10 8 5 7 2 9

— 11 2 -3 +3 —9 + 1 + 8 5 7 + 9
10 2! 9 4 1 9 13 2 9 18

4 6 15 7 14 7 10 8 11 3

+ 1 0o -12 + 9 -6 —1 4+ 7 4 I + 3
5 16 3 16 8 6 17 12 10 6

12 4 17 13 3 8 2 7 3 5

— 6 3 —-12 -8 + 5 =3 +10 3 5 - 3
6 7 5 5 8 5 12 - 8 2

7 12 2 10 19 9 10 12 13 6

+ 7 2 + 2 —5 —-12 + 9 + 2 7 7 + 6
14 14 - 5 7 18 12 19 6 12

5 18 4 6 11 15 3 3 13 12

+ 11 12 +8 +9 4+ 5 =6 + 2 12 7T + 7
16 6 12 15 16 9 5 15 6 19
11 13 7 14 10 15 20 7 1 17

- 1 9 +1 -4 -9 —-10 — 9 7 1 —11
10 - 8 10 1 5 11 14 2 6

6 6 11 4 12 12 10 11 10 23

+ 10 3 —1 £+ 6 + 4 +£12 = 2 3 2 —11
16 3 10 10 16 24 8 8 8 12
21 4 9 12 14 12 5 2 3 8

— 10 2 + 9 41 -6 — 1 4+ 5 5 11 - 7
11 16 18 23 8 11 10 7 14 1
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Opérations Mixtes (J)

Complétez les exercices suivants

9 21 g 11 5 11 11 12 9 3
11 =12 7 -5 + 1 +3 +12 — 71 — 4 +11
8 115 15 12 2 10 5 2 3
+12 + 4 5 — 4 — 8 4+ 2 4+5 —2 + 4 + 1
2 21 3 8 2 2 12 16 13 5
+ 1 =10 3 +8 49 +5 —3 —6 — 9 + 8
9 1 7 9 10 1 16 g8 10 5
+ 4 +10 5 44 — 8 4+ 9 — 9 +8 — 9 +10
13 12 17 9 8 2 12 16 22 8
— 12 + 4 8§ — 8 — 3 +10 — 9 — 4 —10 + 7
17 3 16 14 7 § 12 17 10 20
— 5 +11 5 — 2 + 7 +12 —11 —10 +12 —11
8 2 g8 12 5 8 8 3 4 13
— 5 — 1 6 —11 + 7 +10 + 6 + 6 + 4 — 8
2 3 1 13 15 2 3 20 7 1
~ 1 + 7 +11 — 4 — 8 +3 + 2 —12 + 4 + 5
8 2 1 5 1 13 21 11 2 8
- 6 + 1 4 + 5 +4 — 2 —10 + 8 + 2 — 1
5 7 2 12 10 16 12 g 18 1
+ 9 + 7 4 — 6 +5 — 5 —11 + 4 —11 +12
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Opérations Mixtes Solutions (J)

Complétez les exercices suivants

DINOWDN NN = =N W WL oo

[E—

g 11 5 11 11 12 9
-7 =5 4+ 1 +3 +12 — 17 4
1 6 6 14 23 5 5
15 15 12 2 10 5 2
-5 — 4 — 8 + 2 + 5 — 2 4
10 11 4 4 15 3 6
3 8 2 2 12 16 13
+3 +8 +9 +5 —3 — 6 9
6 16 11 7 9 10 4
7 9 10 1 16 8 0
+5 4+ 4 — 8 +9 — 9 + 8 9
2 13 2 10 7 16
17 9 8 2 12 16
-~ 8 — 8 — 3 +10 — 9 — 4
9 1 5 12 312
16 14 7 g8 12 17
~ 5 — 2 4+ 7 412 —11 —10
11 12 14 20 1 7 9
2 g8 12 5 8 8 3 4 13
1 — 6 —11 + 7 +10 + 6 + 6 + 4 8
1 2 1 12 18 14 9 8 5
3 1 13 15 2 3 20 7 1
7 +11 — 4 — 8 + 3 + 2 —12 + 4 5
10 12 9 7 5 5 g 11 6
2 1 5 1 13 21 11 2 8
1 +4 +5 +4 — 2 —10 + 8 + 2 1
3 5 10 5 11 11 19 4 7
7 2 12 10 16 12 g8 18 1
7 +4 — 6 +5 —5 —11 + 4 —11 +12
14 6 6 15 11 1 12 7 13
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